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2. ���� �JBIG2�
JBIG2
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������ (ISO/IEC 14492)
0 or 100% ��
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 ������������ ��	��������� ����%�

autumn 33,498 12,273 63.36
winter 18,210 3,052 83.24

turtle 23,790 5,794 75.65
rose 26,328 6,834 74.04

wine2 6,040 2,532 58.08
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R = 230
G = 160
B = 20 

R = 231
G = 160
B = 20 
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winter 760,625 85,016

autumn 718,026 20,984
turtle 669,193 40,200
rose 741,039 47,200

wine2 67,679 17,824
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4. �� ��� ��

����� PSNR SSIM
winter 66.8238 0.9999

autumn 60.6416 0.9997
turtle 63.9006 0.9999
rose 63.2129 0.9998

wine2 57.5847 0.9996

PSNR SSIM

!"#$ = 10 log 255-
. − 0 - [23]
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""67(9, ;) = 2=>=? + AB 2C>? + A-
(=>- + =?- + AB)(C>- + C?- + A-)
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